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“BML=ER (N02) BT : ppm
47 [ BA | 6H | TH | 84 | 9HA |10H | 11A [ 12A | 1A | 2H | 3H [®=wmm
ﬁﬁ% 0.013 | 0.013 | 0.013 | 0.014 | 0.009 | 0.010 | 0.012 | 0.016 | 0.019 | 0.017 | 0.013 | 0.014 | 0.014
iy | 0.016 | 0.015 | 0.015 | 0.017 | 0.011 | 0.012 | 0.015 | 0.018 | 0.021 | 0.019 | 0.015 | 0.016 | 0.016
%‘)5 0.013 | 0.013 | 0.012 | 0.013 | 0.008 | 0.010 | 0.013 | 0.016 | 0.021 | 0.020 | 0.014 | 0.015 | 0.014
3JFFHE | 0.014 | 0.014 | 0.013 | 0.015 | 0.009 | 0.011 | 0.013 | 0.017 | 0.020 | 0.019 [ 0.014 | 0.015 | 0.015
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4H 5H 6H 7H 8H 9H 10H 11H 12H 1H 2H 3H
FiEhL IR 'E (SPM) BANZ: mg/m
4H | BH | 64 | TH | 84 | 9H | 10H | 11H | 12A | 1A | 2H | 3H |#rwm
#p | 0015 | 0013 [0.012 | 0.021 | 0.015 | 0.013 | 0.011 | 0.010 | 0.008 | 0.008 | 0.007 | 0.012 | 0.012
%{)” 0.018 | 0.014 | 0.013 | 0.021 | 0.014 | 0.013 | 0.013 | 0.012 | 0.008 | 0.010 | 0.009 | 0.015 | 0.013
@ |o0018 | 0014 [0.013 |0.022 | 0.014 | 0.014 | 0.014 | 0.013 | 0.009 | 0.011 | 0.010 | 0.017 | 0.014
3JEME | 0.017 | 0.014 | 0.013 | 0.021 | 0.014 | 0.013 | 0.013 | 0.012 | 0.008 | 0.010 [ 0.009 | 0.015 | 0.013
0.100
0,090 S SR
0.080
0.070
_0.060
%0.050
& 0.040
0.030
0.020 A
0.010 T w

0.000
41

54

6/]

“H

8H

9/

101

114

121

1H

2

34




TG RRIGHRHERHE  H FE

YAbFEAFF b (OX) BT : ppm

454 [ BH [ 6A | 7TH | 84 | 9H | 10H | 114 [ 12A | 14 | 2H | 3A |#wmik

5 0.042 | 0.042 | 0.042 | 0.041 | 0.029 | 0.029 | 0.029 | 0.026 | 0.024 | 0.027 | 0.035 | 0.040 | 0.034
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—EbmiR (SOz) {7 : ppm

[ppm]

4H 5H 6H 7H 8H 9H [ 10H [ 11H [ 12A | 1H 2H 3H |#ErmE

B 0.001 | 0.001 | 0.001 | 0.001 | 0.001 | 0.001 | 0.001 | 0.001 | 0.001 | 0.001 | 0.001 | 0.001 | 0.001
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THSHFEE KX

GORIFHIE  H A FEIE

“BbER (NO2) H{7: ppm
47 [ BA | 6H | TH | 84 | 9HA |10H | 11A [ 12A | 1A | 2H | 3H [®=wmm
ﬁﬁ% 0.011 | 0.012 | 0.014 | 0.013 | 0.009 | 0.011 | 0.013 | 0.018 | 0.021 | 0.019 | 0.015 | 0.015 | 0.014
i | 0.013 |0.013 | 0.016 | 0.016 | 0.010 | 0.013 | 0.015 | 0.019 | 0.023 | 0.020 | 0.017 | 0.017 | 0.016
%‘ﬁ 0.012 | 0.012 | 0.014 | 0.013 | 0.008 | 0.011 | 0.014 | 0.020 | 0.023 | 0.020 | 0.016 | 0.015 | 0.015
3 | 0.012 | 0.012 | 0.015 | 0.014 | 0.009 | 0.012 | 0.014 | 0.019 | 0.022 | 0.020 | 0.016 | 0.016 | 0.015
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4H 5H 6H 7H 8H 9H 10H 11H 12H 1H 2H 3H
FiERLFIRY'E (SPM) BANZ: mg/m
4H | BH | 64 | TH | 84 | 9H | 10H | 11H | 12A | 1A | 2H | 3H |#rwm
#p | 0.014 | 0.013 | 0.016 | 0.017 | 0.015 | 0.013 | 0.010 | 0.012 | 0.011 | 0.008 | 0.007 | 0.011 | 0.012
%{}” 0.016 | 0.015 | 0.017 | 0.016 | 0.014 | 0.013 | 0.010 | 0.014 | 0.013 | 0.010 | 0.009 | 0.013 | 0.013
@rF | 0017 [0.015 | 0.016 | 0.016 | 0.015 | 0.013 | 0.011 | 0.015 | 0.015 | 0.012 | 0.010 | 0.014 | 0.014
3JE)ME | 0.016 | 0.014 | 0.016 | 0.016 | 0.015 | 0.013 | 0.010 | 0.014 | 0.013 | 0.010 [ 0.009 | 0.013 | 0.013
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TS HFE RIBUREEHE A FEE

YAbFEAFF b (OX) BT : ppm

454 [ BH [ 6A | 7TH | 84 | 9H | 10H | 114 [ 12A | 14 | 2H | 3A |#wmik

5 0.044 | 0.043 | 0.039 | 0.034 | 0.018 | 0.026 | 0.034 | 0.026 [ 0.021 | 0.024 | 0.030 | 0.036 | 0.031
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—EbmiR (SOz) {7 : ppm

[ppm]

4H 5H 6H 7H 8H 9H [ 10H [ 11H [ 12A | 1H 2H 3H |#ErmE

B 0.001 | 0.001 | 0.001 | 0.001 | 0.001 | 0.001 | 0.001 | 0.001 | 0.001 | 0.001 | 0.001 | 0.001 | 0.001
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GORIFHIE  H A FEIE

“BML=ER (N02) BT : ppm
47 [ BA | 6H | TH | 84 | 9HA |10H | 11A [ 12A | 1A | 2H | 3H [®=wmm
#0015 [0.013 | 0.015 | 0.012 | 0.011 | 0.009 [ 0.013 | 0.017 | 0.021 | 0.019 | 0.017 | 0.016 | 0.015
=yl | 0.018 | 0.016 | 0.018 | 0.015 | 0.014 | 0.011 | 0.015 | 0.019 | 0.022 | 0.020 | 0.018 | 0.018 | 0.017
g7 | 0015 [0.013 | 0.014 | 0.012 | 0.011 | 0.009 | 0.015 | 0.019 | 0.023 | 0.021 | 0.018 | 0.017 | 0.016
3R I | 0.016 | 0.014 | 0.016 | 0.013 | 0.012 | 0.010 | 0.014 | 0.018 | 0.022 | 0.020 | 0.018 [ 0.017 | 0.016
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FiEhL IR 'E (SPM) BANZ: mg/m
4H | BH | 64 | TH | 84 | 9H | 10H | 11H | 12A | 1A | 2H | 3H |#rwm
#ps | 0.014 [0.012 [0.017 |0.016 | 0.020 | 0.013 | 0.011 | 0.012 | 0.008 | 0.010 | 0.010 | 0.013 | 0.013
ol ] 0.019 [ 0.015 | 0.019 | 0.015 | 0.017 | 0.012 [ 0.013 | 0.013 | 0.009 | 0.011 | 0.012 | 0.016 | 0.014
&7 |0.018 [0.014 [0.018 [ 0.014 | 0.017 | 0.013 | 0.014 | 0.015 | 0.011 | 0.013 | 0.014 | 0.017 | 0.015
3JE Ml | 0.017 | 0.014 [ 0.018 | 0.015 | 0.018 [ 0.013 | 0.013 | 0.013 | 0.009 | 0.011 | 0.012 | 0.015 | 0.014
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THAFE RIGRERE A FEE

YAbFEAFF b (OX) BT : ppm

454 [ BH [ 6A | 7TH | 84 | 9H | 10H | 114 [ 12A | 14 | 2H | 3A |#wmik

5 0.040 | 0.043 | 0.034 | 0.024 | 0.030 | 0.028 | 0.027 | 0.026 | 0.020 | 0.024 | 0.032 | 0.035 | 0.030
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—EbmiR (SOz) {7 : ppm

[ppm]

4H 5H 6H 7H 8H 9H [ 10H [ 11H [ 12A | 1H 2H 3H |#ErmE

B 0.001 | 0.001 | 0.001 | 0.001 | 0.001 | 0.001 | 0.001 | 0.001 | 0.001 | 0.001 | 0.001 | 0.001 | 0.001
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THSFE KX

GORIFHIE  H A FEIE

“BML=ER (N02) BT : ppm
4H | 5H | 6A | TH | 84 | 9H | 10A |11A | 12A | 1A | 2A | 3A |#wym
Hpy | o0.011 [0.013 [0.012 | 0.014 | 0.011 | 0.011 | 0.015 | 0.018 | 0.024 | 0.018 | 0.017 | 0.015 | 0.015
=Rl 0.016 | 0.016 | 0.016 | 0.017 | 0.013 [ 0.016 [ 0.018 | 0.020 | 0.025 | 0.020 | 0.019 | 0.019 | 0.018
#7= |o0.012 [0.013 [0.011 |0.013 | 0.010 | 0.011 | 0.015 | 0.020 | 0.025 | 0.019 | 0.019 [ 0.015 | 0.015
3E¥Y)ME | 0.013 | 0.014 | 0.013 | 0.015 | 0.011 | 0.013 | 0.016 | 0.019 | 0.025 | 0.019 | 0.018 | 0.016 | 0.016
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FiERLFIRY'E (SPM) BANZ: mg/m
470 | B | 6A | 7H | 8A | 94 | 10H | 114 | 12H | 1H | 2A | 3H |=vwiE
wps | o0.014 [0.015 [0.012 | 0.014 | 0.015 | 0.013 | 0.011 | 0.010 | 0.011 | 0.009 | 0.009 | 0.013 | 0.012
B 0.014 | 0.016 | 0.014 | 0.018 | 0.014 [ 0.014 [ 0.013 | 0.013 | 0.014 | 0.010 | 0.010 | 0.016 | 0.014
7 |o.016 [0.022 [0017 |0.014 | 0.015 | 0.015 | 0.013 | 0.014 | 0.015 | 0.011 | 0.011 [ 0.016 | 0.015
3 EE | 0.015 | 0.018 [ 0.014 [ 0.015 | 0.015 | 0.014 | 0.012 | 0.012 | 0.013 | 0.010 | 0.010 | 0.015 | 0.014
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3L KRIGUREEAE A FEE

YAbFEAFF b (OX) BT : ppm

454 [ BH [ 6A | 7TH | 84 | 9H | 10H | 114 [ 12A | 14 | 2H | 3A |#wmik

5 0.043 | 0.042 | 0.042 | 0.028 | 0.027 | 0.033 | 0.029 | 0.027 | 0.020 | 0.028 | 0.031 | 0.039 | 0.032
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—EbmiR (SOz) {7 : ppm

[ppm]

4H 5H 6H 7H 8H 9H [ 10H [ 11H [ 12A | 1H 2H 3H |#ErmE

B 0.001 | 0.001 | 0.001 | 0.001 | 0.001 | 0.001 | 0.001 | 0.001 | 0.001 | 0.001 | 0.001 | 0.001 | 0.001
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TAI2MERE RRGYH

FHIE HFERE

“BML=ER (N02) BT : ppm
4H | BH | 6H | 7TH | 84 | 9H | 10H | 11A | 12H | 1H | 2H | 3H |®=vrwE
R 0.012 | 0.012 | 0.013 [ 0.013 | 0.011 [ 0.010 | 0.013 [ 0.019 | 0.023 [ 0.021 | 0.017 | 0.014 | 0.015
=Rl 0.014 | 0.014 | 0.017 | 0.015 | 0.014 | 0.013 | 0.018 [ 0.023 [ 0.027 | 0.026 [ 0.024 | 0.020 | 0.019
BF 0.014 | 0.013 | 0.014 [ 0.013 | 0.011 [ 0.010 | 0.015 [ 0.021 | 0.027 | 0.025 | 0.020 | 0.016 | 0.017
3EY)ME | 0.013 | 0.013 | 0.015 | 0.014 | 0.012 | 0.011 | 0.015 | 0.021 | 0.026 | 0.024 | 0.020 | 0.017 | 0.017
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4H 5H 6H 7H 8H 9H 10H 11H 12H 1H 2H 3H
FiERLFIRY'E (SPM) BANZ: mg/m
470 | B | 6A | 7H | 8A | 94 | 10H | 114 | 12H | 1H | 2A | 3H |=vwiE
G 0.013 | 0.020 | 0.024 | 0.023 | 0.030 | 0.016 | 0.013 [ 0.016 | 0.014 | 0.013 [ 0.013 | 0.016 | 0.018
=0l 0.013 | 0.015 | 0.019 | 0.016 | 0.018 [ 0.012 | 0.012 [ 0.016 | 0.014 [ 0.015 | 0.015 | 0.018 | 0.015
= 0.014 | 0.016 | 0.018 | 0.015 | 0.018 | 0.012 | 0.014 | 0.016 | 0.017 | 0.014 | 0.012 | 0.015 | 0.015
3/ i | 0.013 | 0.017 | 0.020 | 0.018 [ 0.022 | 0.013 | 0.013 | 0.016 [ 0.015 | 0.014 [ 0.013 | 0.016 | 0.016
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T2 HEE RIGRERAE A FEE

YAbFEAFF b (OX) BT : ppm

454 [ BH [ 6A | 7TH | 84 | 9H | 10H | 114 [ 12A | 14 | 2H | 3A |#wmik

5 0.045 | 0.041 | 0.037 | 0.021 | 0.034 | 0.025 | 0.028 | 0.023 | 0.018 | 0.021 | 0.031 | 0.038 | 0.030
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—EbmiR (SOz) {7 : ppm

[ppm]

4H 5H 6H 7H 8H 9H [ 10H [ 11H [ 12A | 1H 2H 3H |#ErmE

B 0.001 | 0.001 | 0.001 | 0.001 | 0.002 | 0.001 [ 0.000 | 0.001 | 0.001 | 0.001 | 0.001 | 0.001 | 0.001
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